Z‘ﬁ(a D B 2

’m gjti i\f( R) ATLLA=RY sy
= @Q T -—‘> \f(g\ flﬁ(@ndss 19

Z> OC@}*C\ @(Bb\ < IT<‘H . LS -?0(35\0\@ — 0

FIP_ Cro—f@y= T t(.r.-n\ —+ ZZ {(a, o
+ LG

wL{H’ L.L
(\\ -
g = LZJ‘C(B-HA[(& \3t (‘Jr =i \} —L T
_& (65&(«4%&4 10@%( O B, \)

g{s([o‘k_s,l\ﬂ\\ H ‘\LLQH) :




‘ L (£, T\)é C—{LB ([m&j, u’ﬁ'n \/S\(Bl _(_\3
Qe Lz({ \‘lT \ o

V\-")-

E (L e ey ZE(L(&\)\{W @t
= \/ow mu\) Z_\ e (1{ (\3*: \)\{ =18 l\

cCLIm|—= o

N h—o

Note Tor fi 4 L w\ ‘ »XJM éCbCR\

e
s LA- éCb(\E\ o) TM\ R\
\L i ’ (K, ‘\\ —~7 1)

| Wl




QC‘OC‘Q\ / "@d&% 0‘\(°‘Y‘°"“‘\’°\7k rP\c/er T2 bo‘r \V\>o

- su.lp navm

; o~ \\k

% 5 £ T\ AJC(J&\T\\\ 3
lE(\ T 3 \ZJ@,-@(@@(@ -

\Z—\

s e

=
I\j( &\\%a + e M

i o




el

This argument is not quite right

\ z"‘l,t (‘@ QT_\ \ VLC Q ‘ \ \ S ‘Jﬁﬂstes fOI' an alternatlv -

‘C/{:& ()
LQ'\‘QT%\OC.S& I “\QTSZ ; gh}
?(’—Lt('& ol dt('& "@TLM ZCJCZ

::1‘-“ _,JC(_& \\\ %\A,

W\ Bl




L»)c % z C C 123 % Vel NPT = o st
| é '7C< B, 9 +(\‘@\t«') C@“d%{""\

it 5
(e\(% e B %ﬁ(@\é\i*ﬂ& S,Q(Bs\c\s




SDE L -
. hia
codinedl de o g

At

PEeUS v\m\o\ Q

3) %wa

la\m \Jw\'{ I \\\t«»‘ﬁ {/LSVW“ ﬁk * S ﬁx s\&*\l\lq ﬂ\
b wjﬁﬂr 5 & wft}wﬁ\w“ )-~




